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Franz Pachl
KoBulChess 2019
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2 solutions
Neutral: Pawn c2, Zebra e6, Grashopper d4

a) 1.- nPc1=nG 2.h8=Z nGc4
3.Zxe6[+nZel]+ nZxc4[+nGc8]#
b) 1.- nPc1=nZ 2.h8=GC nZa4
3.Gxd4[+nGd1]+ nGxad[+nZa8]#
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Franz Pachl
Gaudium 2020
1. Prize
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#2

Pao a4 c3 f8 h6 b8
Vao b5 al

Nao g8 h7 d1

Rao b2 f1

1.Nagf6? (2.T:d5#) 1.- Kd3! (2.PAcc4?
K:d2!)

1.PAff6? (2.T:d5#) 1.- Keb5! (2.VAc4? K:f5!)
1.PANf6? (2.T:d5#) 1.- Kc5! (2.RAc4? Kb6!)

1.f6! (2.T:d5#)

1.- Kd3 2.PAcca# (2.RAc4? NADS!)
1.- Ke5 2.VAc4# (2.PAcca? PAb2!)
1.- Kc5 2.RACA# (2.VAC4A? VA:c3!)
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Franz Pachl
Die Schwalbe 2020

Annanchess

b) wZd®6; c) w2:55d6

Giraffe d6

Neutral: Zebra e3, Giraffe g5, 2:5S al

a) 1.Qa2 nZb5! (nGlxc4?) 2.n25c3 Glc2#
b) 1.Qg6 n25xf3! (nZb5?) 2.nGla5 Zad#
¢) 1.Qe4d nGlxc4! (n25xf3?) 2.nZf2 25f1#
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Superproblem 2020
1.-3. Prize
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#2 (12+11)
PAO f4 f5 a4, VAO e6 c2 b8 a7 a2
NAO d4 f8 g2

1.PAe5? Kxf6! (2.NAF5? VAxf4l)
1.PAd5? Kxg4! (2.PAFf5? VAxe6!)
1.PAC5? Kxh6! (2.VAf5? VAxd4!)

1.PAD5! (2.Txg6#)

1.- Kxf6 2.NA5# (2.VAF5? PAXf4!)
1.- Kxg4 2.PAFf5# (2.NAF5? NAxe6!)
1.- Kxh6 2.VAT5# (2.PAf5? NAxd4!)
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Julias Fairies 2021
2. Prize
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H#3 (2+12+3)
take&make

031111

Halfneutral: Rook g4, Nightrider e6, Camel
g7, Grasshopper h8

) 1...hnRf4=nh 2.nhnNa8=bh nhnGxa8-
c4=wh 3.Kxc4-c1 nhnCAxf4-f2=wh#

II) 1...hRg5=nh 2.nhnGh4=bh +
nhnCAxh4-d4=wh 3.Kxd4-c1 nhnNxg5-
g3=wh#

) 1...hnRh4=nh 2.nhnCAd8=bh
nhnNxd8-e5=wh 3.Kxe5-c1l nhnGxh4-
fA=wh#
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Internet-Tourney Rhodos 2021
1. Prize
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H#3

3.1.1.

Grasshopper ¢c6 ¢5 3 d3 7
Nightrider g2, Camelrider hl
Zebrarider b8

Neutral: Pawn d2

) 1.nPd1=nN Gf5 2.nNf2 nNh6 3.CRg4
Gf3#

II) 1.nPd1=nCR Ge4 nCRb7 nCRh5 3.ZRe6
Geo#

) 1.nPd1=nZR Ge5 2.nZRxf4 nZRh7
3.Nf4 Gc5#



